Wug—A / SECTION—A

. Fefifa § ¥ 90 wE w1 IR T 150 vy A R

Answer the following questions in about 150 words each :

(a) STER GgeA  wTeiE Td aermd i fRRaT I o we | o ) & T AR &
aftha fRr B FRuR T & e - feuf ) ghfe wh & st fe fedd
fefa 7 oft T & d 27 =men Hfm
State Marshallian and Walrasian stability condition of market equilibrium. Do
you think that existence of Marshallian stability necessarily ensures Walrasian
stability and vice versa? Explain.

(b) =7 i dm Fa R w5 R AR

State Bain’s limit price theory.

RV § B )

(c) Y@ H wera A foga win o6 REd # we fifve)
Explain kinked demand curve theory with the help of diagram.

BESERSRENGA ¥ Lk. \ ¢, §/ DY

(d) TR IR THo IR TN Too To 1 & Towda ik hidw Fifeard =0 g &7
What are the fiscal and monetary implications of vertical IS and vertical LM
curves?

fe) TR i wIceR Td Forhl R =1 whem Hifvg)
Examine Kaldor and Kalecki theory of distribution.

V2. (a) “'Fa Fenieh waR-adwe ¥ ewre 3 fraiid ofj wh w© o graa f R @
slaem = R 21" ==t Hif)

“The advent of New Classical Macro-economics has tended to upset the apple-
cart of Keynesian and to a great extent, that of the Monetarists.” Discuss.

(b) ToemE gl ofR S TR w R

Write on Prisoners’ dilemma and Nash equilibrium.

(c) mﬁmﬁm%mﬂﬁymmmwmwmmmﬁ
T FUHaT/ WA Fd1EY |
Discuss in brief Friedman’s restatement of the qua.nt:lty theory of money and
find its similarity/difference with the classical quanuty theory

3. (g mmﬁhﬁ%mm%mmmﬂamwﬁﬁwﬁﬁm :
Distinguish between Monetarist and Neo Keynes:an approaches to
expectation-augmented Phxlhps curve, :
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(b) 1 T St DR 7 A srderen # gredf wOveR i d A A Al g
7 g e PR T e Hafg W ge Rl A i)
Should inflation targeting be main plank of monetary policy of a central bank
in emerging market economies like India? Show its implications on investment

and growth.

() oPF AER Y F0 A ¥7 gl G ofR oEE A e 87 W .
What is a Lemon Market? What is the role of signalling and screening in it?
Explain.
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4. (a) mﬁawwﬁfﬁ%?u@mmuﬁmw@mmﬁ@ﬁmmm
27 faa=m il

What is asymmetric information? How could it lead to adverse selection and
market failure? Discuss.

(b) T TR A% ¥ e § s wiRife B smuwon A e fif
Mlustrate the notion of perverse subsidy in the context of natural resource
sector.

(c) Frh enferara % faFm wa § gt =@ % 9aEt @ wda Fik)
Examine the effects of public expenditure on the development process of an
economy. 15
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5. Tr=fafaa # 4 7% 59 H IW T 150 = H DR
Answer the following questions in about 150 words each : 10x5=50
(a) F-IAM T AARE-IAN * 4 faem Hf) T 9E TRR-3AfeR diew smai-Idm
%1 e F a1 §7 == i)

Differentiate between inter-industry and intra-industry trade. Can standard
H-O model explain intra-industry trade? Discuss.

(b) TR v fEaw A efm 6 gEaad Bl i =men i)
Explain Dunning’s eclectic theory of FDI.

() IIFR AR F FE-FHA F TaiE-Iam wea H e Fikw)
Explain Brander-Krugman model of intra-industry trade in an oligopolistic
market.

(d) FoeE N Fohia G IREHCE B EHRT| T WAl T % fe e et 27 @
Explain Kuznets’ inverted U’ hypothesis. Is growth good for the poor? Explain.

fe) &= zmadt & anfife wgfe, M dafs # +0 W W 27 Re Hiftg

Under what conditions economic growth reduces employment growth
Discuss. :
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Describe the growth path, which once the economy attains it, will give o higher
level of per capita consumption than any other growth path for all time.

" A ) P e w @ A T W ol gt 3 e
e 3 9 TR R e e 1 R R R weed @A gRe T awdt ool
iowe & Ht = R )

“Technical progress in capital-intensive sector almost invariably reduces t}.1e
real wage rate and increases the real return to capital. Technical progress i
labour-intensive sector will lead to increase in real wage rate and decrease 1n
the real return to capital.” Explain. _

w0 fafa s § g % 3 ® Ry wmR dred #§ Fn Rdy §7 fEe Rk
What is the stalemate in the WTO about subsidies in less-developed
economies? Discuss.

"7 7% 5 B v @ fr Prafa-atfima wafs 30 % =R w6l @ s W R o 3w S fon
e 7 R, 93 2w & Foof & 7 5 o0 | & v &, ar o ¥ W AR

“The argument that export-biased growth may turn the terms of trade
unfavourable to the country and hence may not be beneficial, is applicable in
the case of a large country and not a small country.” Explain.
HeR-TR Waia ) gema § TRl anfsrawen ¥ ogen % gl <R wRoIf <R T T
HITH & U F wo-wa ERRR w0 % 46 & we # Aftma gam )

With the help of Salter-Swan diagram, define the zones of disequilibrium and
assign policy prescriptions for the situations pertaining to unemployment and
inflation vis-a-vis BOP deficit.

SAfHTE T % TR g e % =gan s T e %1 frsa S

To counteract under-development stagnation, discuss Leibenstein’s critical
minimum effort theory.

YAF-Hger IESA & YR iR s sarm @ §7 R 6

What are the elasticity and absorption approaches to BOP adjustment?
Discuss.

"IEE-3T A N W () @ e sl (wgwi-me) A da s
(F=a) A= T e @ S @ 5= it i B S o e nim-w s
g F TG S 9 W WR €1 e Hiftm)

“Pollution-income progression of agrarian communities (clean) to iridustrial
economies (pollution intensive) to service economies (cleaner) would appear to
be false if pollution increases again at the end due to higher levels of income
and consumption of the people at large.” Discuss.

gu & il faspr wiea § el A woqu o wa Hifdm)

Indicate the Ricardo legacy which is inherent in the Lewis model of economic
: e |8

development.
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